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2. ffidqyr+*vtnfifrsr
3 T{rrFr-.l;trnlsst s}ff qrffff ffi vq' qrqrdffRq,tffrt

qrft;?tqtclq{q6ff*{rqrBq t

I . Answer the following questions :

(a) Explain the concepts of producer surplus and

'consumer surplus. Consider a market for apples.

Suppose the supply of apples rises. What happens

to consumer and producer surplus at the new

equitibrium in the market for apples? (9)

(b) What is Price Ceiling? Does a price ceiling fixed

by the government always change the market

outcome? Give reasons for your answer. (9)

ffifrr c{+ fr Tf,( afrs:

(o) rer+o flftiq qt 3c$6r flEric d a-qqr<orr* d
qqeqar +{ * fts sq, qrsr q< frqn qtr ffi flGq

t{ d sq"ffi c6 vrfi *r tq + crflR t w v.gm

v{ sq*Rr qk wse6. qEris 6I HI *ir *?

11

increasing returns to scale or decreasing returns

to scale or bonstant returns to scale.

(i) Y = L.K

(iD Y : JLK (e)

(b) In continuation of Part (a), if suppose the firm is

producing 100 units of output. Write the equation

of isoquant for the two production functions given

in Part (a). (9)

ffikd qs'd + !clr{ thv:

(.r) fd rM qrwr { m (t ) at Es (r) qil 3q*{

o,G san (Y) 6r sffr+r tl+ qfr q+, 5{ vt ffqR

ei-r ffikd vrilim sirr i + tr +, rrr frtfRfl

qt*fr qr q{ c}ffictq-.d*fitrqrffiqtq&
ffi qr ffi qr frtfi frrd $r rmm tnatl rre 15I *l

(i) Y = L.K
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equilibrium. What will be the total revenue,

marginal revenue and average revenue for the

firm? (9 )

ffitud c{+ * sf,r afrs:

(q) $ cftetff ErqR i ffi t.{ d rrc srs{ frg ifu

fi-6r6 B'E * ffq m-t otr

(q) tft + frs td ffi wqni c-6 s{ cr frqn otr

. ftft qr qrqr {m 24 rq+ yfr fr*fiq ir E€

q-{ + frs ffi arra rmFr Etr rtnn Eqr rrqr t:
MC:3 + 7Q *t d qill d wrqr of q} qr q{
q-gil{ w <ron { t}ff l s"{ sr Ea IIWE, ffi rrcs

ft *(d rrqq wr rlrnr

8. Answer the following questions:

(a) Consider a firm producing output (Y) using labour

(L) and capital (K) in a perfectly competitive

market. In each of the following production

functions, determine whether the firm is facing

(q) {g ffqr wr *? wr rrqn Em frqiR'fr {s ftcr

ttm srf,R A c.fti c{irfr +? ilc} sfrr + 6nvr

tri gl

2. Answer the following questions :

(a) Rahul is consuming two goods X and Y. His income

is Rs. 100. Price of Good X is Rs. l0 and the

price of Good Y is Rs. 10. (9)

(i) Given the above information, draw the

budget line for Rahul.

(ii) Suppose the price of Good X decreases to

Rs.5. How will the budget line for Rahul

change?

(iii) Instead of a decrease in the price of Good

X, Rahul's income increases to Rs.200.

How will the budget line for Rahul change,

in comparison to Part (i)?
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(b) What is an indifference curve? Explain the

properties of indifference curves. (9)

ffifuc yr+* * rff flfrs:

(m) W t eq$ x *r Y qr sqqtrr fi 16I *r 3Td

iflrc 1oo wi *r <q x d ffrd ro wt t *t <q

Y d frc-( ro tqt tr

(i) 3ciffi q'q6rt d H gv rqa + ftq {ff
trcr firs'r

(ii) qq dtuq fr sq x d *ffi veot s tq+

i orfr ir rrga * fds qq-c tqr d+ {q+.fr?

(iii) s< x fr *rt il t,,ft + cqrq, rrgo d srq

2ss Eqt (fi'aq urft tr rflr (r, 6I Et{I +,

{Sd ,i frs cffc tff d+ €fi{fri

(o) v+fi-+n s-fi wr l? 3-qrfi-{-dr s-d + {ot ql

{rflrrt?
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(b) Define perfect competition. What are its main

characteristics? (9)

ffifur cfi'* Tfl( A&s,

(o,) qo, lrarxur d mrrrcr t ffi E{ o1 sq arrre att

sraFk( iFrd * {q rfl cir Et 1isl[ t, irfifq, flIq

iltr +€rcT arq * {-q qil rcq 6tr

(e) $ rMFnr d qfr{rR-d oi-r Eq-6 3e ftM wt

t?

7 . Answer the following questions :

(a) Differentiate between shut down point and exit

point of a firm in a perfectly competitive market.

(e)

(b) Consider a firm in a perfectly competitive market

for sugar. The market price for sugar is Rs. 24

per kg. The marginal cost function for this firm is

given by: MC = 3 + 7Q. Calculate the quantity of

sugar that this firm will be selling in the market at

94
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(b) tllustrate and explain the concept of Law of
Variable Proportions. In this context, differentiate

between increasing returns to a factor, constant

returns to a factor and decreasing returns to a

factor? (9)

ffitur rri * rr-i flfts:

(m) H d fi-dq{dr *{ ErA d fi-dqqdr + +q a-f,r

q-drs?

(q) cfrsfftc erxvr{ + fiq{ 6 wqqrln q} qs of sk

wGflu'l E(I {E{ +, frtfr lfrcfi rR q.d+ fr.t, frS

. Ifircfi'c( fur ffi ii[ ffi 6rc6 rR Tc-( tc+ +
{-{ f,-dr 6t?

6. Answer the following questions :

(a) Differentiate between explicit cost and implicit cost

of a firm with the help of an example. In this

context, explain the difference between economic

profits and accounting profits. (9)
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3. Answer the following questions:

(a) Whenever interest rates on savings increase,

households tend to save more. Is this statement

true or false? Explain with the help of income and

substitution effects. (9)

(b) It is observed that at the existing equilibrium in

the market, demand is highly inelastic while the

supply is highly elastic. Ifthe buyers have to pay

a tax of Rs. T for each unit they buy, who wilt

bear the higher burden of tax: buyer or seller?

Explain why. (9)

ftqfrkd c{i * stft Afrs:

(q) qs rt qq6 qr qro d qr& l, * qFcR irE-o- <m

6{+ drr+ il u-a 6t6 t& t qr imd? src W

yfr<qn-{ cqr* fr <ar{dr + ffisrs}?
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(e) rc ?er mr i fr qrsr + +{4r t-Sd{+-, cr{ ilflEo.

A-d{R * o-{fr, sr$ irsfuo +{qR *r qE <Q-ef[

d !-&6 {sr{ €H qi T \c} qr qt tqr *rn, i
q-t er sfus te otc {fi qtm: rst-{ETt qr Bm?

qreEq d?

4. Answer the following questions:

(a) What is a Production Possibility Curve (PPC)?

Explain why under the usual assumptions, PPC is

bowed outward (concave to the origin). What will

be the shape of the PPC if the opportunity cost of

Good Y in terms of Good X is constant? (9)

ffikr vri * vfi ffBs:

(m) ysre* tqr+< qm (qft6 ) qr i? E-dIs fr qrqrq

trRWS + n-aa, fffrfr qr6{ d *r (W frE m

*t w+<a) d g6r Ei{ il qA qE Y fr $qfi

dFkr q< x + Irdlt + RR + * PPc mr sF6tt tEr

+fl?

(s) qR a qq( * * t-qrfi-i-dr qfr qr er *rni

(i) $ vfrFrq-{

(ii) $ {16

(iii) s+' qe inffi+, cq i st& *, qrft flItrt, sc

t q<n

5. Answer the following questions :

(a) Differentiate between economies of scale and

economies of scope. (9)
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(b) What will be the shape of indifference

the two goods are :

curve if
(e)

(i) Perfect Substitutes

(ii) Perfect Complements

P.T.O.

(iii) One good is economic good, other is

economic bad


